TIME-3H 15 M Set-02 F.M.-100
THY —3 °el 15 e

quiid—100

Q:@f 3TN ]%'I_@f (Choose the correct Answaer)

1. 7 &l 1

(a) URHT T (b) JURHY HET () TRHI SR URAT ST (o) T H=T

T isa
(a) Rational Number (b) Irrational Number (c) Rational and irrational both (d) Integer.
2. frafeiRaa § @ A 3T FE&T © 2 1
Which of the following is a prime number ?

(@) 10 (b) 7 (c)15 (d)9

3. f3OTd 98U x-sx+6 B LID T | 1
Which is Zeros of Quadratic polynomial x>-5x +6

(a) (-3,2) (b) (-1,-2) (c) (3,-2) (d) (3,2)

4.?Tf%{€|_§,”qﬁx2-x+1iﬁ3]fﬂfﬁa,,G?f?ﬁlféfb—[‘ﬂ?%l 1
a
L 1 1
If Zeros of polynominal x*-x +1 are @, [ thenvalue of —+, E is
a
(@) -1(b) 1(c)o(d)2
5. ST ABcH AC’=AB’+BC’ T LB @ 1

An /\ ABCAC?>= AB*+BC*then LB is

(a) 75° (b) 60° (c) 45" (d) 90°
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6. Ui T 3ifddhad a1 2T 2| 1

Maximum value of probability is

(@)0 (b) 2 (c)1 (d) -1

7.185 (4,-2) 3R (6,4) T AT XE@ETS & A4 &1 Fced R 1
The Co-ordinate of mid-point of line-segment joining (4, -2) and (6, 4) will be
(@) (5,3) (b) (51) (c)(5,2) (d) (-1,2)
8. sin (90°-A) SRTEX BIT ¢ | 1
Sin (90°%-A) is equal to
(a)SinA (b)-SinA (c)-CosA (d) CosA
9. 9 & URM Td AT BT 3JUTd &Il & | 1
The ratio between circumference and diameter of circle is

(a)1: T (b)1:2 (c) /m:1 (d) 2:1
10. UM UrT A9 et &1 A1y 2— 1

The mean of first five even numbers is

(@)6 (b)4 (c)5 (d) 8

11, T TG JH T .o gl BIl B | 1
The solution of pair of consistent equation is................
12. Qb 4ac>0 TN ax’ +bxrc B A o BT | 1
If b>-4ac>0 then roors of ax’ +bx+c are...........
13, AE—qd D URMA...ooooo Bl & | 1
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15. Cos®17°-Sin>73°dT HIT . €I‘I | 1

The value of C0s?17°-Sin? 73°% iSeeueevveeeeennnnn.

16. QH (g B B FAsSinQ & AT H oo Bl 2 | 1
The value of Sin Q............... as & Qincreases.

17. RIP THIGRT x=5 BT ARG ¥ T B BT B | 1
The Graph of a linear equation X=5 iS.........co........ to Y axis

18. IS AP, BT UIH UT a 3R FAFIR d BT TSN = g | 1

19. T THIG BT BIT B Lo 1
All equilator triangle are.........cccccvvvvvieeeeennnn.
20. URHY 3R JURTY FEIRN BT TG ... Bl 2 | 1

Product of rational and irrational numbersis ........ccoceeeeeeeviirinnnnne.

21, ool fgameT 918U & Y[RI® —2 Ud —5 81 Al 9gU8 A1 v | 2

Find quadratic polynomial if their zeroes are -2 and -5.

22. I fgaTd FHIBRYT & Hell BT ANTBe AR [UFH HAL: 1/4 T4 1/4 8 ol
feemd THieRoT e | 2

If the sum and product of roots of a quadratic equation are 1 /4 and 1/4 respectively. Find

quadratic equation.

23. PP b A @ U pxe2y=5 3R 3x+y =1 BT BT g B | 2
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For what value of P px+2y=5 and 3x+y=1 have unique solution.
24, TETT FHIERU 2x-6x+3=0 & Hall I Ul FabTed | 2
Find the nature of roots of quadratic equation 2x*-6x+3=0.

25. F3¥ST ABC H Ac=6 v/ 2 cm, AB=6 cm, BC=6 cm T ....... B BT A fHTel | 2

In triangle ABC Ac=6 \/_2 cm, AB=6 cm, BC=6 cm then find ...... B.
26. I 145 P (2,-2) 3R (2, 2) B MATATE WIRIvE & HeATdg ebTed | 2

Find the mid-point of line-segment joining two points P (2, -2) and Q (-2, 2).

27. {37 g3T & 6 A ABC ~ ADEF T §70 &3l HAY: 64 cm” 3R 121cm’ & |
IfT EF=154 cm B I BCFTT BN | 2

Given A ABC ~ ADEF and their areas are 64 cm” and 121 cm? respectively. If EF=15.4

cm then find BC.
28. T[S &1 & abTel a1 ¥ (3, -5), (7,4) &R (10,-2) % | 2
Find the centroid of triangle which vertices are (3, -5), (-7, 4) and (10, -2)
29. AT cosA=3/4 Alsin A TG Cot A BT A {aIet | 2
If Cos A =3/4 then find the values of sin A and Cot A.
30. 2 Cot 245°,Cos230°+Sin 260° BT A FdTe | 2

Find the value of 2 Cot245°,Cos?30°%+Sin260° .

31, AP:3, 8, 13, 18, —--rrroemmeees D P AUS 78 T 2 2
Which term of A.P 3, 8,13, 18 -------—---- is 78.
32.89g B & 15— 3 T% IURTY T 2| 3

Prove that 15—\/_ 3 is anirrational number.
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33, U fafer 4 8, 9 3R 25 &1 H0 |0 fF¥ehred | 3

Find H. C. F. of 8,9 and 25 by Factorization method.

34. 1 G T &0 |0 3R {0 {0 AT 20 3R 5 & TAT TAA W& 5 & Al Ugell
T e | 3

L. C. M. and H. C. F. of two numbers are 20 and 5 respectively . If second number is 5 then find

first number.
35. P AIM MaTel AfS U gU FHIeRYT &1 4o §9H 2 | 3

Find the value of P if following equation has equal roots.
3x%-5x+p=0

36. 3Thfc H 0A0B=0coD T g &N b Ca= [c

3N CB= LD 3

In given figure OA OB=0C OD then provethat [A=[C& [B= L[D.

37. T8 B @1 &% (al e et & RS (3,4), (4,3) AR 8,681 3
Find the area of a triangler of which vertices are (3, 4), (-4, 3) and (8, 6)

38. Sin (90 °-) BT AR U AT g | Fared | 3

Find the trigonometrical ratio of Sin (90 °-Q) by geometrical method.
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39. Y &1 U §R B@HI AT 8| 4 | BIS IT I aR9% G U B B HTiydham
fFepTed | 3
A die a thrown once. Find the probability of getting the numbers equal or less than 4.

1-SinQ

40.%@ EIO_Q rove that ), SecQ-tanQ) %=
(p ), | ) 1+5nQ

41.91¢ faRT 40, 15, 15, 18, 22, 29, x, 32 y =T 29 Pl HIEY 25 ?ﬁx+y5b—[ A el 3

Find x+y if A.M. of distribution 40, 15, 18, 22, 29, x, 32,y and 29 is 25.

42. 9T d Farel (Find median) 3
T ST 40-45 45-50 50-55 55-60 60-65 65-70 70-75
C.l.
EIRCING]] 2 3 8 6 6 3 2
f
43, TTHRT fafd 9@ Rl ?ﬁl (Slove by graphical method) 5
2x+y=6
4x-y=4

44. U REAMT BT AT 3.5 cm Tel TF ¥ @ MER BT & ol S BT Il T
&Ml TR ARG 8| Racl T &7 FU0f $a1E 15,5 cm & a1 Rael=1 &1 G0 I
G e | 5

A toy having base in the shape of cone of radius 3.5 cm which is surmounted by a hemisphere of

same radius. The total height of toy is 15.5 cm then find the total surface area of the toy.
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45. U FHAA S TR TSl AR I BTIT 40 A0 A0S =T & SR & od G A
ST 10T 60° W 30° B W & | HHR BT ST el | 5

The shadow of a tower standing on a level ground is found to be 40 m longer when the Sun's altitude

is 30° than when it is 60’. Find the height of the tower.

46.77f< T ST | T PIT TR YW T P17 & RGN & AR AL &7
Br[e ey 8| Rig Y | 5

If one angle of triangle is equal to one angle of the other triangle and the sides including these

angles are proportional, then the two triangles are similar. Prove it.

47.WW%ABCWWBc:kmAB:scm.Wﬁ[ﬂﬁiﬁwﬁ[ﬂﬁm
o aITg & T Brgat &1 ol &1 573 T & 5

Draw a right trinagle ABC of which BC=4 cm, AB=3 cm. Draw a similar triangle which sides is 5/3

times of given triangle.
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3TN (ANSWER)

1.(b) 2. (b) 3.(d) 4. (b) 5.(d) 6.(c) 7. (b) 8.(d) 9.(c) 10. (c) 11. Udh 12. dIX< GG 3ﬁ? NIRRT 13.

n
7r. 14 AR 150 (I) 16. GG 17. THIR 185,= 2. [2a+(n-1)xd} 19. FAHY

20. JURAY

21.?jfﬂ‘cﬁ?ﬂw =+ f=-2+(5)=-7
YRS BT PAEA = g B =-2x(-5) =10
%ﬂﬁﬂ‘g’%’ =X -(a+pB)x+a B
= x> -(-7)x 10

= x> +7x+ 10

22. 9l BT I =:11

el BT oD =

N

fgard TR = x>~ (el BT ARTHA) x+ Al BT TOH =0
= xz-(%)x+1/4=0

4y’ - x+1
= 4 =0

= 4x%-x+1=0
23. px +2y+5 aiXx+byy+c,=0

3x+y=1 ax+b,y+C,=0
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a_b,
a. D,
P 2
=>—=—
3 1
=P=6

D = b%-4ac = (-6)* - 4x2x3 = 36-24 = 12

D>0 Hel gRidd 3R SFFAM B |
25.T%|’ﬂTr[ABcff

54'_2““

6cm
AB*=(6cm?) =36 cm’
BC®= (6 cm’) =36 cm’
AC*= (6 2cm)?=72em’
L AB?* BC? =36 cm*+36 cm?® = 72cm? = AC?
* AC’= AB” +BC’

3d: ABC Udh AP %I [B=90°

26. A U 145 P (2,-2) 3R Q(-2,2) P, BT AT XERETE &1 7ed fig
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:(2+(—2)'—2+ zj:(gigj:(o’o)
2 2 2'2

27. feIT & A ABC~ A DEF

ar (AABC) _ BC?
ar (ADEF)  EF2

L

64cn? BC?

" 121en? (15.4cn7)

64cm?X (15.4)° crr?

LBC? = >
121cm

64cmEX (15.4)° e
coc- (XSS
121cm

8X15.4
11

cm =8X1.4cm

=11.2cm

28. BT @& MY (3,-5), (-7,4) 3R (10, 2) DD (x,y)

c= Xt Xot Xs YY",
= y_
3 3
_3+(-7)+10 _-5+4+(-2)
3 3
:§:2 :__3:_1
3 3
BED =(2,1)
29. CosA =§
4
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. 7
SinA= —
4

30. 2 Cot 245% Cos ?30°-Sin 2 60°

= 2x(1)" - (?T + (%}2

= 2X1—§+§:2
4 4

31. AP: 3,8, 13,
a=3, d=8-3=5,a,=78, n=?
" a,=a+(n-1)d
=78=3+(n-1)x5
= 78-3=(n-1)x5

= 75=(n-1)x5
(n-1) = E =15
5

n-1=15
L n=15+1=16

n=16

32. /T 5 15—I:EWWW%W§J§WW%|

37 I8t favem 2 |
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TRIY 3R SURTT FAT BT 3R SIRYY Bl & |

[ 15- /3 U JURAT T ¢ |

33. 8=2x2x2x1
9=3x3 x1

25=5x5x1

I:H.C.F.(8,9,25):1

34, UgAl AT x Y 0 = &0 HOx HO W0

Ugoll 9T = ¢10 90 x 90 90

AR W0

20x5
= =20
5

35. 3x°-5x+p=0
a=3,b=-5,c=P

D=b?%-4ac=(-5)%-4x3xP=25-12P

4 Rar g w81 Lo-o

L s 1p-0am12p-25 EP=%

36. faaT % OA .0B = 0C.0D
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D B
[ OA _OD

oc 0B

A AOD A COBH [ AOD= [ COB (HH@ I B ¥)

qr 98 .90 Ry
oc OB

LA nop - A cos
L ca- ccv o= s

37. 701 & Wl & [R5 (3, 4), (-4, 3) T (8, 6) % |

Pt a1 &t <5y, y) (Yo v+l y, V)

=E[e,(s— 6) + (~4)(6-4) +8(4—3)]‘

:‘%[3(—3)—4x2+8x1)]

=E[-9-8+8x1)] = %xg

=45 97 SHTS
38. AT fdb ABC Uh THBIT A 2|
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[B=90° [c=q(H

L CA=90°-Q

SinQ= E
AC

Sin (90°- Q) = i—g ............... (i)

(i) 3R (i) sin (90°- Q) = Cos Q

39. OId U BT U gR el Ol 2 al 4 IT 4 W BIS) G&T =1,2,3,4 8T |

U™ IR UTS el 90 = 6

L 4o, ﬁ‘aﬁﬁwﬁﬁaﬁmﬁaﬁhg:

2
1 Sin
40. L.H.S :(Squ—tanq)Z:(Cosq_Cost

_(1-Sing 2=(1—Sinq)2 =(1—Sinq)2
Cosq Cos’ q 1-Sin’q

(1-Sing)x(1-Sing) _ 1-Sing

= =RH.S.
(1+Sing)x(1-Sing) 1+Cosq

winN
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EL.H.S =R.H.S Proved.

41. WY = TN BT Gl AT

ESREC

= 25= 40 +1.5+1.8+2.242.9+x+3.2+y+29

9

—=> 25x9=185+x+y

= 225-185=x+y

= 40=x+y
I: Xx+y=40
42.
I JRTA (C.1.) IRARAT (F) | ol IRERAT (CF.)
40-45 2 2
45-50 3 5
50-55 8 13
55-60 6 19
60-65 6 25
65-70 3 28
70-75 2 30
N=30
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30

3q AT 91 55-60 2|

I: | =55, c.f.=13,f=6,i=5
E—c.f
AqH = | +-2 f xi
:55+15_13x5:55+§x5

:55+%X5=55+l66:5666

43. 2x+y=6

=>y=6-2x

%_ = =15, 9% W IR 19 B SR T & TP -9riier 5560 ¥

4x -2y =4

= 2y=4x-4

= vy= 2X-2
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T | BH WA ¢ (& 3l Wl Wl U6 gAY B a5 (2, 2)R Fredl & |
3. x=2, y=2

44. RIAHT Br W uﬁ'l_?z& =15.2 cm
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15.5 cm

T

3.5 cm N/

Vv

3T =3.5cm
UH DI HAT = 15.5cm-3.5 cm

=12 cm

i @ R = Jh?+17 = f127+(35) om

=144 +12.25cm = +/156.25cm = 12.5cm

Racl &1 /YU U &0 = SAGIIel $T Gb U3 &0, + ¥y Bl IHYS &0
=2 c+mr= mr(2r+l)

22 ,
=—7-x&5(2x&5+125):22x05(7+115km

=11x19.5 cm? =214.5 cm?

45, 9719 foram & ag T9R 2 fSRT8! $aT8 hm 2|
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1] [1]
60 30

5
o

BC UHR @ BT 8| BC=x AT
BD = (x+40) m
A ABCH

tan 60° = E =
BC

olo

= B:D:>h:x\/§:>x:L

X NE
46. 919 foram & B[S asc Td S Der
A D
VANIVAN
/N
39 UBR & b
EA=ED@$=%
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?ﬁﬁl@W%\'ﬁﬁAABc ~ A DEF

gIdc:— A ABC H ABW AM = DE O AN =DE PIC QETMHQJTN?ﬁ Sl |

T .- A AMNTUd ADEF® | R
AM= DE ( §9TdC 9 )
AN =DF
C a= Co (A @)
L A AvN ~ A DEF (sas )
L CAMN= CE, CANE = CFo (i)
frry AB_AC
DE DF
AB AC ..
2 = (- DE=AM, DF= AN)
AM AN
= MN||BC

— [M=[BUd CN= [C
Wg () 4 Cm= CEUd LON= LCF
E [B= CEAQYUT Lc= LF

31 A ABCUG A DEF H
Ca= Co (fear )

[B= [E, [C=LCF(INWI)

L A ac 7@ A per FEFSING T
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LAavn-~a DEF (AAA )

BRIIER]
47. %ﬁ%ﬁ%‘ﬂﬁaﬁﬁﬂﬁﬁamwmmﬁg‘éﬁlmﬂ%wﬁw A§|

Th GBI SR Il 2 |

() BC=4cm Gl |

(i) 1975 B TR 90" T BIVT GIRIT | AB =3cm BICT| A A C BT ARAT| ABC Ud
LGN

i) BCH U¥ A & T 3R
U LAV T g3 U [R0T
BX Wi |

https://www.evidyarthi.in/



(iv)5(§ﬁ53ﬁ?3ﬁﬁa@) favg

By, By, B, B, Ud Bs, BX

W 39 TR 3ffed fdar e
BBy, = By By, = B, B3 B3 Bs-

3435ﬁ |

v) Bs(éﬁwﬁigﬁSOﬁﬁ?Bﬁtﬂ’&)

@ ¢ I AR T 8, A BBY AT B,C

T TR U XY dolgl TN XYgUs

BC B ' W Uliwes Bl gg Wil |

(vi) C'¥ BIGR SIATell cA & FATR b V&1 9314 TR YEIRGUS gA Bl A' TR Hfaesg dxll
g3 Wi |
AR cr B AT A ABC HT AT

EA ABC ~ A A'BC!
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